Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 3340701 Date: 12/12/2015
Subject Name: Advanced Database Management System
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q1 Answer any seven out of ten. €2H{&ll SleUQL Ulctatl welled UL 14
1.  Differentiate: Trivial v/s nontrivial dependencies.
q.  Trivial 244l nontrivial dependencies a2 oll dsleld AUl
2. Explain importance of functional dependency in database design.
2. Database design i functional dependency of Hoccl AH1A.
3. What is transaction log? How it is useful in Transaction Processing?
3. Transaction log ®2Q ¢j? Transaction Processing Hi A s& 3l Gualoll .
4. Write a short note on: The Dirty read (Uncommitted Dependency) problem.
¥.  The Dirty read (Uncommitted Dependency) problem U gselltl cull.
5. What is deadlock? How it can be controlled?
y. Deadlock 2Q gj? A s¢ 3lA control ueS A3 .
6.  Explain following:
a. Composite v/s Simple Attribute.
b. Single v/s Multi-valued Attribute.
. AHeAl:
a. Composite v/s Simple Attribute.
b. Single v/s Multi-valued Attribute.
7. What is concurrency control? How oracle controls concurrent access to data?
9.  Concurrency control »2Q 9j? Oracle data <l concurrent access controls st

Ad 52 B.

What are various ways to assign values to the variables?
variable o{l value assign s2cllell %€l — %€l 3t 58 &?

© o

Write a short note on: the inconsistent retrievals problem.
Inconsistent retrievals problem U gsolll vl

oQ

10.  What is normalization? Explain in brief various normal forms.
0. Normalization 2@ 2 wel- %€l normal forms gs Hl AH1Al.

Q.2 (@ Explain Loosy join decomposition with suitable example. 03
ygsl.? () Loosy join decomposition 2ot GeleWl Ul AHAtALD 03
OR
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What is Normalization? Explain the INF and 2NF with example.
Normalization 2@ 9? INF 4ol 2NFGe(s0L AUl UHostAl.
Given R with attributes A, B, C, D, E, Fand S as:

A —-BC E—CF,B—E,CD— EF
Calculate the closure to {A, B} + of the set {A, B} under S.
WA R ol attributes A, B, C, D, E, Fxal S :

A —-BC E—CF,B—E,CD—EF
{A, B} under S it A2 o1l {A, B} + sclldR .

OR
Explain Optimistic methods for concurrency control.

Concurrency control «{l Optimistic methods AHostcl.

Define PL/SQL. Explain explicit cursor in PL/SQL.

PL/SQL ofl catvail 400, PL/SQL i explicit cursor 2@ gj Aot
OR

Define package. Write steps to create package in PL/SQL.

Package ol callvail Ul PL/SQL Hi package create s2cll Hi2ell steps AUl

Explain Trigger using Examples.
Trigger Gele0L AUl A1l
OR

What are ACID properties of database transactions? Discuss each of these
Properties in brief.

Database transactions «{l ACID properties & 8? Q «tll properties &s Hl
.

Remove any redundant FDs from the following set of FDs:
Set: XYV, ZW->V, VXY, WY, Z>X

ol Aoti A2 Hiedl A 518 FD Rsyse &l Al dad R A :
Set: XY>V, ZW->V, VXY, WY, Z>X

OR
Write a short note on RowlD.

esalll dvll: RowlD

Explain Full Function dependency (FFD)
Full Function dependency (FFD) xastal.
OR
What is a synonym? Write syntax for creating & destroying synonyms.
Synonym A2Q gj? Synonyms ol create sclloll wal destroy sl syntax

vl

List out the types of database objects. Explain the CREATE VIEW database
object and compare it with CREATE TABLE database object.

Database objects «ll Us(2 ol €l 5A. CREATE VIEW database

Object Auastcl #al Aol CREATE TABLE database object &l quldl.

OR
Explain transaction control with suitable example.

Transaction control 2092 GelgWL AL AHtA.

Find out the maximum value out of given three numbers using PL/SQL
block.
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PL/SQL block ol Hee ol et 3 value Hidll HedH value 20t

OR
Write about Two-Phase Locking (2PL) and also explain variations of Two-
Phase locking.

Two-Phase Locking (2PL) (A2 ¢vl 4at Two-Phase Locking el variations
IRCIEN

Differentiate implicit lock V/s. explicit lock.
Implicit lock V/s explicit lock a2 ol dglald AWl

OR
Explain procedure RAISE_APPLICATION_ERROR.

Procedure RAISE_APPLICATION_ERROR xtdl.

What is parameterized cursor? Why there is a need to pass parameters to
cursor?

Parameterized cursor :W2Q ¢j? Parameters a cursor Hi pass s2cllo{l

3Rl AW

OR
Write any six rules of Armstrong’s axioms for functional dependencies.

Functional dependencies HI12 oli Armstrong’s axioms ol 5 Q2010 cul.

Debit the given account with the specified amount. If resultant balance is
negative then display error message otherwise update new balance in
account.

WL account ol specified amount &l Debit $L. 1 resultant balance
negative 8l Al error message display s «il@l account i new balance
update s32\.

Write a PL/SQL program to update the salary of all analysts with 5%. Update
the salary of all employees with 20%. If total salary of all employees exceeds

than Rs.1, 00,000 then undo the 20% raise.

Write a PL/SQL program to update the salary of all analysts with 5%. Update
the salary of all employees with 20%. If total salary of all employees exceeds

than Rs.1, 00,000 then undo the 20% raise.
What is Functional Dependency? Draw the Functional Dependency Diagram
by giving the example and also compare it with Full Functional Dependency.

$59lolct (3Usel AeA 92 $52olcd ((Uselotl stauoUH GeleW AL A

AR et $520ict ((Use{l WA Aoll uRvuHg(l 5.
Write a short note on: TCL commands.
esalll dvll: TCL commands

Explain GRANT and REVOKE commands with examples.
GRANT el REVOKE commands Gele0L Ul Axestal.
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